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[01]f x™dx = +C
n+1
m %+1
fxﬁdx=xm+1 +C

[03][ e¥dx = e* +C

X

[04]f a*dx = —+C

Ina
fi—x =lIn|x|+C

[06] [ cosxdx = sinx + C

[07] [ sinxdx = —cosx + C

[08]f ax = [(1 + tan?x) = tanx + C

cos?x

fsi(:;x = [(1 + cot?®x) = —cotx + C

[10] [ sinhxdx = coshx + C

[11] [ coshxdx = sinhx + C
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-f = [(1 — tanh®x) = tanhx + C

cosh2x

-f prene = [(1 — coth?x) = cothx + C

[14] f +arcsmx +C
VieaZ —arccosx + C

- _ +arctanx +C
1+x2 —arccotx + C

dx . -1
f—m—smh x+C
_ax  _ -1
]m—cosh x+C
-f _ +tanh Ix+C

122 +coth x+cC

: Au3Y) OIWOL4AT)) ANg) : ()lAs

3
3 -= -
I[==+5+=+C
3 -2 2
x3 2 1
=5 3w ettt

5 0 2 ik



tanx
lefezdx
cos“Xx

d
Let:u = tanx — du = —

cos?x

I=[etdu=e"+C—|l=e" 4|

3(1+Vx)
I—f = dx
dx

dx
Let:u=1++x Adu—ﬁaﬁ—Zdu

_ _ 3" _ 2 [2(1+Vx
I—nymhw3+C%I—MJﬂ+xﬂ+C

3
n

1+tan?x
[=| —dx
10+tanx

Let:u = 10 + tanx — du = (1 + tan®x)dx

I=.f‘i—u=ln|u|+C—>|I=ln|10+tanx|+C|

1+sin3x
1 =f ——dx
sin2x

sz( 1 +sin

sin?x  sin?x

3x

) dx = | (sinx + Si;x) dx

[I = cosx — cotx + C|
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@ [=[tan3x-dx
I = [ tanx - tan®*xdx = [ tanx[(1 + tan®x) — 1]dx
I = [tanx - (1 + tan®x)dx — [ tanx - dx

sinx

dx

I = [tanx - (1 + tan’x)dx — |

cosx

I = %tanzx + In|cosx| + C

eX e*
(7] I—J‘—de—f—mdx

Let:u =e* »du=¢e*- -dx

I = j\/% = arcsin(u) + C

|I = arcsin(e*) + C|

sin2x

6 I= Vi1+sintx dx

Let:u = sin®x — du = 2sinx - cosx - dx = sin2x - dx

I = j\/% =sinh™t(u) + C

|I = sinh™1(sinx) + C|
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© [=[e3* sinh(2x)-dx

= f o3% (er_ze—Zx) dx = f es:cz_ex dx

=1((e5* = =1(lesx _ o
I=>[(e ex)dx—z(sex e)+C

[=2e5 —e*4(
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x(1+x2)
(1+x)? 1+2x+x2 (1+x )+2x
fx(1+x2) fx(1+x2) f x(1+x2)
(1+x2) 2x
fx(1+x2) fx(1+x2) dx

d
I - f ) + f(1+x2)

|l = In|x| + 2arctanx + C
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